Dec '07 ATF data analysis
(resolution using 1 pickup)

FONT meeting 08/02/08



Resolution as for 3 BPM method (1,2,3)
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Resolution | Resolution Resolution
(minus flyers) | from fit
Proc 1 | 1.64um 1.62um 1.61um
Proc 2 | 1.76um 1.76um 1.64um
Proc 3 | 7.41um 5.71um 4.93um
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Resolution as for 3 BPM method (1,2,4)

Resolution of processar 1 from 2 & 4
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Resolution | Resolution Resolution
(minus flyers) | from fit
Proc 1 | 1.64um 1.64um 1.7um
Proc 2 | 1.75um 1.76um 1.63um
Proc 4 | 2.97um 2.41um 2.31um
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Resolution as for 3 BPM method (1,3,4)

Resolution of processor 1 from 3 & 4
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Resolution | Resolution Resolution
(minus flyers) | from fit
Proc 1 | 2.45um 2.37um 2.21um
Proc 3 | 4.4um 3.99um 3.17um
Proc 4 | 1.77um 1.79um 1.85um
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Resolution as for 3 BPM method (2,3,4)

Resolution of processor & from 3 & 4

15 T T
hdean: 0.077544
sigma: 2.7516
hax: 9.0064
Chizsndf: 0.13044
10r i
5 - -
- -4 -2 1] 4 &
Size of residual 7 um
Resolution of processor 4 from 2 & 3
14
Mean: -0.20875
16 F Sigma: 1.7936 -
hda=: 9.52804
I ChiZ/ndf: 0.10108 |
14
121 7
10r 7
8 - -
E - -
4 - -
2 - -
D 1
-3 a a

Size of residual £ um

Resolution of processor 3 from 2 & 4

15 T
Mean: 0.39564
Sigma: 3.5822
hdax: 9.9998
Chigfndf: 0.15556
10F
!
" ,
-15 -10 -5 0 5 10
Size of residual £ um
Resolution | Resolution Resolution
(minus flyers) | from fit
Proc 2 | 2.63um 2.57um 2.75um
Proc 3 | 4.42um 4.27um 3.58um
Proc4 | 1.77um 1.78um 1.8um




Resolution vs position for experimental setup
as per previous slides — (this Is a very rough
analysis)
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